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1s a desiccant herbicides.

(B)
©)
D)
(E)

Arsenic acid -

Acetic acid

2,4,5-T
Ammonium Sulphamate

Answer not known

(&)
®
©
(D)
(B)

erengl FrpHlEhél sears Asmealwnsib.
<y reafs juslen

D814 & SjLflevid

2,4,5-T

<SCwreflwid seouGwl_

eflen_ Qg flwellerene

The system of animal classification used nowadays is

(A)
(B

o

(D)
(E)

Artificial classification
Practical classification

Natural classification

- Horizontal classification

Answer not known

sHCUTg LweTUT g6 2 arer eflev@safler cuamnaslium® ererLig)

(A)

B

©
©)
(®

QFwhenswimer é.l@ﬂ&ll urr@
BenL_(Lpenm eUansUILIM(H
Quipens euengLILIT(h
Slenol_L QJGH)&INI;ILIW(B

eflenL Qs flwellcvena
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Be - The HIV—I (virus) contains two identical molecules of positive sense is
(A) mRNA (B) rRNA

\/ ssRNA (D) (B) and (C)

(E) Answer not known

HIV-I encugevsaefler Cr wrdlflwmer Crim ey w @ e ppedsnniseaT 2 GTeTe ieelsaT

DG
(A) e %rr GTEUT. &F (B) <. =yi.crem.er
(C) r;rgb.crém. ST, GTEI.GF | (D) B) whmwd (C)

(E) eflen Gsflwelevenen

4. The stored form of Iron content in human body is
(A) Haemoglobin

(B) Haemoiron

W Haemosiderin

(D) (A) and (B)

(E) Answer not known

wallg 2 Ladléd Callgg enauss LD @) mLLEssSs eramen &S ILGE DS
A)  abCurECarmer

B) abGureuwiren

(C) afCurems.Mer

@) (&) wppid (B)

(E) eSenL Qs fMweleena
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Toll free telephic service (24 x 7) of 181 to h_élp women in distress was inaugurated

by the TN government on the day of
(A) 12.10.2019 o 10122018
(C) .12.10.2018 (D) 10.12.2019

(E) Answer not known

e 2i(WsssHd 2 e wasall(HEsTs, S0Lps  DTaTeD ngUfEJ&Si;[uLLI; (24:-%x 7, 181
QgranewGuél Caaneu Ggm_mislLL L BreT ' |

(4) 12.10.2019 S Ry 10.12.2.018

(C) 12.10.2018 (D) 10.12.2019

(E) e&fen Asflweldensw

Aarogya setu uses one of the following technology for identifying zone that have high

rate of Covid-19 transmission

d Geographic information system
(B) Remote sensing
(C)  Geological information system
(D)  Creation of Buffer zone system

(E) Answer not known

Crmedlu Gag ererm Qeweluied vwETLESSILLL, &z;)as'eim_ Qamfleom b eped
Gamaill_~19 eneuryen iflsors ureliw weTL hisamen & (Hy &sL I_IUJGﬁTI_l.I'_I;@‘

(A) _@L@m saeu@ Qgmbled s b

(B) Qsreney mewramientioy

©) yel s@wLUAWD gseud @g,rr@sbgt'_mb

D) QsrEd #@@ﬁé}ﬂ;ﬁb (penm

(E) eflen Qs flweidvene
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¢ o In 2019, Nobel. prize in chemistry was given for which development?
(A) Development of protein
QA Develop?nent of Lithium-ion battery
(C) Developmenﬁ of Cryo electron nﬁcroscope
(D) None of the above

(E) Answer not known

2019 aum_ib Gauglufuicd G(mrn.Js'u Lfls TSNS 2_(HeUMGH SN G ULPRISILILL &)? ..
(A)  yrshiseer 2 (HeunsdLsHE

(B) Gﬁlg,é,] wib sjwefl CuL L fsamer 2 (Heurswsne

(C)  ANCw erevsL ymesr @jsz;h@smrré;@mu_i 2 (ReursSHWSDH(E
(D) Copsea_eme e @)erane

(E) ool Asfueioame
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Why did the social reformers of the first half of the 18th century fail to create a
movement?

(i) Social conditions were not suitable
(ii) There was no other class supported them

* (iii) They criticised idolatory

«( @) and (i)

(1) only
© 6, i) and GiD)
(D) (1) only

(E) Answer not known

supsmi Efflwsseungladr 18 b BIHDIETg6n (LpSE ST FIODTETH STOSHD 6T SIms Qb
Q&SNS 2 (HeuTsss seurdl efl L enT?

(1) swsTu B s@EHSTHEUTED Gldamea.
(1) eursErsE GCeum ér,r_'rggg G efen(mid <y sreuafissaiioena

(i) seuisar Hame auflum el ergliggeut

@ O oppi )

B) @) wGd

© @), (i) wppd Gii)
D) (@Gu) LDLGL'D

(E) s;ﬁlml_ QsMwefeoene -
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9. The two head streams of Ganga, the Alakananda and Bhagirathi which join together

at
A Deva Prayag (B) Karna Prayag
(C) Vishnu Prayag : (D) Rudra Prayag

(E) Answer not known

SHINS BEUTEN S MSGETTET, SQSBHST wHoib LTErs Geerruid G b
A) GCseu Gruns (B) srew GQruns
(C)  Neypam Qywiné - (D) msr Gywns

(E) &Yoo Qsflweddana

10.  Which one of the foilowing mineral is famous for mining in Bababudan hills?

(A) | Copper ' . (B) Bauxite

J fron . (D) Zinc

(E) Answer not known

LITUTLSTET Lapeaaie, FIRESSHE Wruewner Getaumibd srg) erg)?
(A)  Qswy ' (B) urdeavL
©€) Qmwvy (D) gsgprsd

(E) oo Qsflwelevraner -
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12.

During which rule of dynasfy first self-immolation of widow took place in India?

(A) Chalukyas

(B) Cholas

J Guptas

(D) Mauryas

(E) Answer not known

A)  snEpsHwuiser
(B) Gemprser

©C) ©usTsdr

(D) Querflwirser

(E) eflen Qsflweildvena

What is the meaning of ‘Maval’?
(A)  Soldiers of Shivaji
/| Sunset-land

(E) Answer not known
‘LOTEUED’ GTENTLISEHT QLIT(mET 6T60T6nT?
A) Hergduler uenL efyiser

©)  @Auer wapubd LES

(E) oflen Gz flwefdvena

B

(D)

®)

D)

- aThS Si7E aulbesSlen L s sregdled @ndwurele (s elgmeus ,éés@aﬂg,g)éo. ﬁas@gr}g@?

Maratha Chiefs

Eastern belt of Poona district

TS L iflsmiser

Lpeur u@'@tﬂﬁ&r SpsE uEd .
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13. Who was the Vijayanagar emperor when Goa occupied by Portuguese?

Nara simha _ (B) Vira Narasimha

J ershna Deva Raya (D) Achyutaraya

(E) Answer not known

Cameuneneu GuissEAwiser easliupdu Cug eIQUBST SiTeTTs @@pg,surr Wi
(A) (EUﬁLbLDW | (B) .aﬁlj‘r_r;ljéﬂmmrr =
(©) Amegew Caeugmuim : (D) 'cgléa;grjrr.u_i_r'r

(E) eflen Gaflwelicvenco

14. The term “Zorrab Khana’ denotes
(A) Secretariat ' (B) Council of Chamber
‘A Mint (D) Smaller unit of Province

(E) Answer not known

Qe srem eeam Asme s GHEHamns
@) Geuesid _ - (B) wpsf seu
(C) prewrw smenen (D) wrhle Hireurs sieE

(E) &l Qsflweidene
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15.

The correct statements about citizenship are :

1.

2.

(&)

©

(E)

The constitution deals ci_tizenship from articles 5 to 11 under Part IV

In India both a citizen by birth as well as a naturalised citizen are eligible for
the Office of President
Renunciation, Termination and Deprivation are the three ways of loosing

citizenship

Citizens and aliens enjoy all civil and political rights

1,2,3and 4 s

1,2and 3 . D) 1, 3 and 4

~ Answer not known

@'qwifleno LB sMwnen UTEH LSS M) :

1.

()
(©)
(E)

@bdu swdueeniy ugd IV sdaer o @muy 5 - 11 GLIG{DI;i Glgwfenoamuwis

GH&sns,
Gmuy wHmID @Lq_@')LDLLinﬂS@I:D Qewer eperid @meuT QBAL GiWrss sSeaeur
LgeiléE sGHwraTeur

o flevw gIPEsD, (PYasE Qaram® cumsa WHMmILD @95&;& Qaise ppetd GHEUIT
@Lq.lqrﬂmmsmu_l ‘@%Qasaseurru)

@\go&er wHMD Syt (Alien) @ @weuHb erererr euansITen gL LHYILD @I

2 flengener Qumdlemment.

1, 2, 3 whHmib 4 ' (B) 2 whmib 3
1, 2 wHmib 3 D) 1, 3 wpmwb 4
| aﬁlml_ Gg,rﬂu.t@ﬁlmemso
11 : ADGS/2021

[Turn over



16. The word “Secular” added to the Preamble of Indian Constitution, 1s according to

which of the following Amendments?
~(A)  40th Ame‘ndment
d 42nd Amendment
- (C)  44th Amendment
(D) 4314 Amendment

(E) Answer not known - =

@pdlwu oirflueannliYer @és@smguﬁ}éb ‘wgeniGereny’ Qsmerens L9emeumHeuareuDblen srg'ég; :

sl L Hmssdleniig dal LUl L g|? |
(A)  40ecug) gL H(mSsLD

(B) 42a5 5L Hmss0

(C) 44aug L Hmssd .

D)  43aig s Bodsid

(E) &l Gsflweicvene

17. ‘The PM shall be appointed by the President and other Ministers shall be appointed
by the President on the advice of the PM’ is according to which of the following
Articles ' ;
(A)  Article 74 (1) : A Article 75 (1)
©) Article 75 (2) (D) Article 74 (2)

(E) Answer not known

Grs  whSH M @Lq_u,lly&? SENGEUTTED ﬂm@&i&ﬁu@ﬁﬂ)ﬁﬁ LOHMD @sT S®EsTeEeT TS0
SNl <y Comsmenden Lig Glgurs gt HlullssiiuGdpriser. Qg SpsTamid

b edlSlule éllé_LlJUGH)L_UJrT@Lb
A) o9 74 (1) B) o948 75 (1)
©) 875 @) D) o948 74 (2)

(E) . eler Qsfwefevene

ADGS/2021 T - . s



Name the following is associated with the Planning Commission in the formulation

and implementat_ion of the plan _ _

(A) Planning Commission M National Development Council

(C) Finance Commission ' - (D) Indian Parliament

(E) Anéwex‘ not known

Spssamcunmer, SLSms 2 (HauTdHEs0 oppd  CAewduBsgudd L Gueyen
Qs wg e7gl? : : :

A) dloew (B) Gazélw euariédl @

© pfsew (D) @pdu ummesweTpid

(E) & Qsfluelerens

The reason for formulating the monetary policy is

: & Increase in Tax revenue

2. Economic growth

3. Reduce Poverty

4. Inflation control _

(@) land2 (B) 3and 4
H0)  tand3 dzandzz
(E) Answer not known

6J 6T (BITLD @@ UeeTs 0l & meTen g udlenent mmggjsthT_rrLb’?

1. auffl eupeuTa L i Slahss |

2. QumpeTms Ty cueTiEs

3. apewoou oSl

4. vewt eisagms &L HUILOSHL

(A) loppn2 S ®) 3 wpmb 4
©) 1 wpmd 3. D) 2wpmb 4
8 e Gohodess |

ig ' ADGS/2021
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20. The Father of “New Green Revolution in India” is
(A) T.T. Krishnamachari - (B) S.Mohana Rangan
.at( M.S. Swaminathan (D) N. Subramanian’

(E) . Answer not known

. @'r_'r)gc,]u_'méﬂeb “USlw usenw LT Auller” sHhas
A) g él_@a’q:mmrr&érrrﬂ : (B) erav. Guonsear Qriiser
(C)  erb.eren. eumprsen ' (D) eren. sUpenflwe

(E) eflen Qs flweliévena

21.  The objectives of National Manufacturing policy are to

3 create 100 million additional job in the manufacturing sector by 2022
2 increase the share of .manufacturing in GDP
3 increase domestic valué addition and technological depth in manufacturing
4. enhance global competitiveness of Indian manufacturing
(A) land3only _ (B) 2and 4 only.
© 1,2and40only ' d 1,2, 3 and 4

(E) Answer noﬁ known

Casflw 2 HuSHS Qararansuier Crrésnisar

1L 2022-& 2 pusH Qgmfe gepuie 100 wWleeadwen éin.@g,sb umﬂa;emaf 2 (HEUTSHES6
2. Corss 2 erpr(H 2 HuSHudD 2 HuSE giewmuien Lirkidlenan <ifsfgs0

3.  ohusd Sepids 5B 2 B () B wpH ApmPepL Ukisemer s 550
4. @Qpslw 2 HuSH HaDEE 2 wseralle Guiniig i ener 2_(HEUMEHES60

(A) 1 wHmb 3wl @n _ (B) 2 uwpmib 4wl @id

©) 1,2 wpmb 4 wr Gid _ D) 1,2,3 wpmb 4

(E) oo Gsflwelerena

ADGS/2021 14



22.

Which of the following were the main causéé for tl_.le. tribal revolts against the
British? | | | '
L Extension ﬁf- British rule to their -area-s_
II. . Penetration of .(.Jt-hers supportéd'by the Bri:tish
.I_II. . Rec'rﬁitment of unpaid labour for Manual work
IV. | Isolated nature of the tribals
A IandIV
(B IandIII
(€& Iand IiI

w/ 1 Hand HI

.(E) ~ Answer not known
ﬂ&m@m@mmgjm LS]ﬂL;.Lq;Q.Qsﬁ@éS@ erélymen u@r@@q.uﬁl@mr‘r aﬁlmﬁéﬂéa;nw.@ésé]m STTRTEISET
e ? | - .
| s &ﬂLqmwrﬂs&n TR aaur'rlss@an_m u@ga;erﬂ_sb @S]ﬂ@mésaai.iﬁ
1. : Lorj)g)a_a'r'ras@é)l_u 2ar(H(HeuIGEG |5]fﬂ1'_tq_a'_oé Qggga;qﬂg,g@j .
. iII. 2 L& gm@‘diﬁ][p@ e muﬂs’umﬁ Gg,.rrgiairrmmu Gg,l‘reg Q&u'_l.g,g,j

IV.  upriggu@enfier safllsdmaEsnd semeno

A TLoppd IV b @

B I m@'@ﬁs 181 ETYCINS
©) I wpmo I v @i
D) I II wpmid 111
B oo Opfistidoms

15 ' o ADGS/2021
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23.  Which of the following sta.tementfs about V.0O. Chidambaram is / are true?

L

II.
IIi.
V
©
D)
)

He was disciplelof Tilaik and the extremists under his leadership took the lead

in Madras Presidency

'He was honest and he never appeared in the court for false cases

He bought 'shif)s from France and England.

Tonly

I and I
II only
I1I only

Answer not known -

au.2. Agbugermeny LHH ECLp Q&rréolsnllluﬁ_@dfm &lﬁ)@]&qﬂ_eb sflwreng)/eeu erg)/eTeneu?

1.

IL.

. -

@)

B)

©
(D)

(E)

@@Jr'r Sevsflar FLT wHmd Helaurdad GaimeLw saaoemwilar &p Oseraner.
WrsTarTsse (peranantudey @) mHgenT |

@eur Cpirenwmaral wHmLD g,sumrrarr QULPEGSHEHEETE @ GuTgd f}ﬁmsﬁrmm

.Gu@au‘eﬁebma)

@Guﬁ Ggmaav HHD QidleombHL b @) mbsib a;uusbaaméT eflenardE euriidle.

I ol (b

I wpmb II

II wor (id
I @b

SavL_ Qgflweicene

ADGS/2021 s ' o



24.

Why the militant nationalists called early phase of the congress as “Political

(E)

Mendicancy”?
1. The early congress Iéa.ders had faith in Bfritish li.beralism
I1. They believed in peaceful i)resentation of: their gfievances
. III.- The British Government paid moré atten?t-io_n over .th.em'-.
(A) IIonly 5 : e ‘
® TandII
-1 oply
& landl

Answer not known

srudlyéler PpsHsL LSS Geim Gur‘rr‘ré;@mfﬁésas @g,é]msur@asd‘r “@rfluedd wrEsh” eTem)

&mkpgr&,mﬁ?

L smdrela wse sUL soeoaiser A gayriar smmas Qsmdrems Bg pblsms
wasHmpsent ' | o
II. Seuiser SRSERMLL G@MDEMET SeLodlwimer m@uﬁ@ (e mcut:um;_r,@h_l Lol eurir
II.I. 19 L@a‘q: SITEMRISD Aeuiser g ifls assusaré;@g,é QraisSluig.
A) IIol@Eo
(B) II womb III
(C) Iw @b
D) I whywo II
(E) efenr Qsflweidane

17 e ADGS/2021
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' 25.  The early work on Grammar and poem was assigned to the pre-Christian era

x Tol Kappiyam

(B) Madurai Kanchi
(C) Pattina Palai
(D) Pathu Pattu

(B .Ax_lswer._not known
| éi]gﬁ]siugjm STOSHDE W eT(PFLILLL selles HmID Gaésam @ﬁsb
(A) ngei)&rruiﬁ]ﬁ_lm -
(B) . wg@Ts HTEHRS
©) ulgem Lree
(D) uSgIL LM

(E) el Gsflwelidvens

26; Palaeolithic stone tool was first discovered jn India in 1863 -by
@) Tl ' (B) Miles Burkit
(C) Subba Rao : J Robert Bruce
| (E) Aﬁsw_er nof. known .
1863 1o %m@@m@ uembpugmm et npadics iidimeie. sen &mrésasgur_._g.
4) & Quaf =S (B)  ewéav LT |
@ Ao - _ D s

(E) elen Qsflwelicana

ADGS/2021 R



27.

28.

Which literature says the social political condition of Chola dynasty?
(A)p Thirukkural : (B) Naladiyar

Kaliﬁgathuparani et (D) Periyapur_éinam

(E) Answer not known

Gampraafler &@Das—eirjé]uiéq Hlevay LHB snmitd FHred 67812
A)  Smpseper B) pregum

(C) sdmssgiLyen = D) QuAlwyyremrd
(E) o&fenr QsMwelicenen

Mateh the List _I with List IT and select the correct answer

2 A List IT
- (a) Pasippini maruthuvar 1. Agathiyar
(b) Nannool Pulavar 2. M.P. Sivagnanam
(¢ Kurumuni : 3. Vallalar _ _
(d) Silambuchelvar 4. Seethalai sathanar

@ ® © @
@ 1 2 3 4

4 3 2 1
«JS el
3

) 2 1 4

(E) Answer not known = -

aflers I g auflens Il 2 Lan Quinmsd sflwurer sdent_aw G050

aflens 1 : - auflene 1I

(a) - uAlGestl L@HSSIGUT 1. @ssdur

(b) penayred Ljeveurt 2. w.Qum Aeugprend
-(c) Goiwefl 8. eudTaremt

d) HawbLs Qeceui 4. Sssmessnssemi

@ b @ (d)

e e R 4

B) 4 3 2 1
ACY 3 4 1 2

& 0. 1 a4 @

(E) eflenL Asflweleene

. , ADGS/2021
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29. “Dare to do a thing....

it s shameful to say”
As per the above Thirukkural, how should-
we enter an action?
(A) After accumulating enormous wealth
(B) After_chérity ;

d After a m_atﬁre thought

| (D) At an appropriate time

(E) Answer not known

({3

-glawfla &b ganflbs e -
S

ereuaumm @ Geweller FHULCouait(HIb ere
Slpeueeneu Gmi&hﬂﬂw @pafld _&@mgéﬁﬁmﬁﬁ?
(A) | ﬁcmg)tuu Gurr@siT Cergs 190G
(B) g,m;b Qeiis GnE |
(©) m@m AbS5e SsHEL DG
D) sés sTawLiBg

(E) dfen Gsflwelcrens
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Which of the Ifollowing statements are true about Veerapandya Kattabomman? :
1. = He was the Raja of Travancore
2. He was captured and executed by the British

3. He was the poligar of Panchalan Kurichi

4. His territory was restore to him after end of the revol_ﬁ
(A) 1 and2 | d 2 and 3
(C) 3and4 . (D) 4and1

(E) Answer not known

EpsmerTL &BL@Q_[S&GTﬂGb afpunamigw s Qumbier LBl sfluirar sbHmisaT ereneu?
&l &L Qumbioerr £(meu rrré@nfr LoGsTGHTIT %mﬁﬁ

2. <y Gawisar .h—meusﬁr;rm iy 58! GréHedLenm

3. ‘umgpamem @GmES udlen Qnemmmés&;rrr,rryr_ra; QBT

4, qul;ﬁ(%(ajmﬁlaﬁ'r é{@J@IGEI}L_UJ %f_é‘i;lu@ésﬁu @uﬁ)g&@&;ﬁwl_rrfr =

A L mﬁ;@fe 2 | -

(B) . 2 Lc;g')gub 3

© 3 uwppibd

©  4wppo 1

(E) eleni @g,ﬂ@aﬂsbmm '
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31.  Justice party was founded by
T.M. Nair
(B) P. Subbarayan
© . P.S. Kumaraswami Raja |
D)  C.Sathiyamoorthy
(E) = Answer not known

BHé a1 fenws G,rﬁ)u(a‘ésg%]ﬁ_tsﬁﬁ
(A) g erb. B '
(B) l_'-'ﬂ SUILIFTUE

(© Ao @wrgamsl g
D) & s58u a5
(E) efen_ G]grﬂu_laﬂ_ebsmv'

32. E.V., Ramasamy passed resolution for the wel_faré of the women in the Suya
Mariyathai conference at e

(A) Madras .
(B) Coimbatore
O Emam
j) Chengelpet
~ (E) Answer not known

m.Qau. grosmsl swwilunms LIEM 4o Cuatsadr pogIssTs S L ksd @UHPLILLL
@uib :

(A) Qulgmen

(B) Garuwsant

(C) Csew |

D) Qsrasoul®

(E) &flen Qg u_l.aﬁlebc;'msu
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33. '-_‘The Government is preparing devolution index which will measure social

emp
A

owerment of people at the

Panchayat _level

(B) Block level
(C)  District level
(D) State level
(E) Answer-noﬁ known
@pdu srsmhsssTd surissiu@dan st udiey @GOG wésefler &@Jpgrr@
P sMEmS SenililLg) ' ' :
(A) u@&nm‘&@ Hleeouller/ jerelied
(B)  GsrEs Heauis/ e
(C) el Heeuler/erefle
D) wihe Hoauds/seraid
€ ol Gsfucidmn

34. The person who has been called by the Nickname as “Jail Bird” (Sirai Paravai)

i

(B)
©)
®)
(E)

Periy.ar E.V. Ramééamy
Bharathiyar ;

Siva Subramaniam

P. Subbarayan

Answer not known

Hevpupene eresm ctwc‘m@@mrr@ QUi Garar® SiepasuLLLeuil

@A)
®)
©
@)
(E)

Qulwrr rr.Cau. |;frr|.Da=rrLé]
urglwn |

ey aaulﬂqmswﬂuim

@, sLygmwe

edlenL G]grﬂujaﬁlsbmm_
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35.  Choose the correct statement

(1)
(i1)

 (iid)
(B)
©
(D)
(E)

Pradhan Mantri Awas Yojana scheme aims to achieve “Housiﬁg for all”
by 2022 <43 : :

It also aims to achieve “clean cooking facility to all” -wil_ling rural families By
2052

Both (i) and (i1)
(1) is correct but (i1) is not correct

(1) 1s not correct but (ii) is correct

- (111) is correct

(111) 1s not correct

Answer not known

sflwrean sapdleneans Csirey Qais

@
(i)

(111)
(4)
(B)
©
D)
®

Wrsmer i jeuren Guimgern Si_L_i1b 2022 b oy,6my HEG6T “Diameareuhs@D eiH”
eranm QlavsHmen il aimss GhlEGCsTaras Qs g :

Cogib- i 2022 <ib yarmgH@er “elULPETer 26Ips WESHET DT (HSELD
SN WITET SO cugFsl” eremm Basdamarn il cuamsub Ghé Caramss Qerem_g

) wppid (i) @rarGid

(1) &M gpemmes (i1) geumy
(1) seum %mﬁeb (ii) &l
(iii) &

(i) soup

eflenL WgMlweldene

36. “Staj:e Rural Health Mission” was Launched in Tamil Nadu in the year

@
©
(E)

2004 : ' 2005
2006 = - (D) 2007

Answer not known

“orble s&THMT Liewnll” eTemm el SUODBTIge 2pTdI9&aEILLL euBL LD

(&)
(©
(B),

ADGS/2021

2004 : B) 200_5
2006 y (D) 2007 .
eflem @g;rﬂlu_laﬁlei)smu
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37

38.

The major source of electric energy in Tamilnadu is from

A
(B)

(D)
E)

Wind-Power _Generation
Hydro Electric Plant

Thermal Power Stations
Tidal Power Generation

Answer not known

sUID BT H&E MW Wer < bmeiler QU LEHow QsrHLiLg)

(A)
(B)
©
D)
(E)

sTHprae e 2 HLSS
BT Wesremy oLemen
SiaTe 6ot Hleneowitd
Sjemev Lol &g)ug,(eﬁ]

eSlenL_ Qg,lﬂu_laﬁ}éumw

Expansion of NIC is.

)
B)
©)

4

National Institute of Computation

National Institute of Crime
National Information Centre

National Informatics Centre

(E) Answer not known
NIC e eflfleu rrése’;;ta
Q)  Csdu sansEL () Hpeued
B) Csfu GHp Hmicvamd
(C) GCsflw sseud ewwibd
D) Csdlw ;5.55@6&@6’0 GOLOWLILD
(E) oo Qsflweleema

25
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39. Find the smallest number consisting of five digits which is exactly divisible by 16, 24,
36 and 54.

(A) 10432 : (B) 10064

@f 10368 (D) 10362

(E) Answer not known

16, 24, 36 wHMD 54 <Hu eansermed VAWK aELED Vsl prass aarmans

a;rr_aiifra;.
(A) 10432 (B) 10064
(C) 10368 ' (D) 10362

(E) eflen Qsflweildvens

40. If (a+b):(b+c):(c+a)=6:7:8 and a+b+c=14 then the value of c is

w' 6 (B) 8
=N | O 7

(E) Answer not known

(@+b):(b+c):(c+a)=6:7:8 wpmid a+b+c=14 aafled culesr L

A 6 - B) 8
C) 14 D) 7

(E) el Qsflweferensy

ADGS/2021 26 ' s



41. A metallic sphere of radius 32 cm is melted and recast into small sphere each of

~ radius 2 cm. How many spheres can be obtained?
«( 4096 ' (B) 512
C) 1024 (D) 2048

(E)  Answer not known

32 Qg.8 oymib Camesr_ &G’%Drr&s Camanseng o (médl 2 .@J-.LS <7 Qsrerr Alw Camemons
rHHlerme ersamen Carerniger Slenl_&@Lb?

(A) 4096 ' ' (B) 512

€ 1024 - | (D) 2048

(E) e QsMweideme

42. o1 op 0:1x0.140.01x0.01
_ 0.0101

@) 0.1 - _ B) 0.11

jl - | @) 11

(E) Answer not known

0.1x0.1+0.01x0.01

0.0101 Sl
@) 01 | ®) 0.11
© 1 | O 1.1

E) oL Asfucidame

o _ ' 27 _ ADGS/2021
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_43- The solution of (2x—-1)% =9 is equal to
R _ ®) 2
0 19 - ) 1.2

(E) Answer not known

(2x-1)% =9 eremp &LnebTurrL'_Lq_éhT Siray
& - 1 ' _ B) 2

o 2 ' © 12

(E) eflenL AgMwelicvency

44. In an examination out of 480 students, 85% of the girls and 70% of the boys passed.

How many boys appeared in the examination. If total pass percentage was 75%?
(A 370 (B) 360

(C) 340 | iﬁ)/ 320

(E) Answer not known

8@ Gaitefle 480 wnamauisafics 85% Guairser wppid 70% syawmser Gaisdl Auppan. Gongs
Ggﬁéé] 556350 75% erafler Corefleh erégenan pamaer Lk Qubpeni?

@) 370 ® 360

(C.) - 340 5 (D) 320

(E) e9eni Gsflwelidvena
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45.

46.

The square root of 49 (x? — 2xy + y?)? is

@ 7x-y]
© T(x+y)

(E) Answer not known
49(x2 - 2xy + y2)? _ér auirés PGULD
@A) 7|x-y|

© - T(x+y)?

(E) oo GsMueidma

LCM of x%y + xy®, x* + xy is
J x2y+.xy2

© a’y+y)

(Ej Answer not known

%y +xy?, x° +xy -6 8.8).10

@ Py

©€) 2’y(x+y)

(E) eflenr Qsflwelaene

(B)

T(x+y)(x=Y)

\A' 7(x - y)*

29

B)

D)

(B)

D)

B)

D)

T(x+y)(x-y)

7(x - )

Jz(x+y)

x(x+y)

ADGS/2021
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47. IfRs. 1,600 is divided among A and B in the ratio 3 : 5 then B’s share 1s
(A) Rs. 200 SR (B) Rs. 480
(C) Rs.800 w Rs. 1,000

(E)  Answer not known

eh. 1,600- A wpmid B-&@ 3 : 5 erenm eldlzsHle Gfggme B-en L
(A)  ep. 200 (B) em. 480
(C) . 800 (D) ew. 1,000

E) e Ozfueioame

48. 6 men can finish a work in 24 days, if they work for 10 hours a day, How many days

will 9 men take to finish the same work if they work for 8 hours a day?

A 20 days e (B) 40 days
(C) 10days - (D) 60days
(E) Answer not known
6 amser e Ceumeenws mrlearremmiéE 10 wenfl Gy Ceuane G]&u'_@; 24 mrsatfled

wpryliur. 9 yamaar proerramiéE 8 wewfl G’g;mb Gouerer Qaigned argsean B safle

SjeuCouameveniut (Lpig.LILIT?
A) 20 priser B) 40 prisar
(C) 10 priser (D) 60 B _sar

" (B) elar QpMueideme

ADGS/2021 . 30 = o8



49.

50.

51.

Right circular cylinder is a solid obtained by revolving ————— about its sides.

(A) Square 6 Rectangle
(C) Parallelogram (D) Rhombus
(E) Answer not known '
R(H ————— IS LSEHREDET ML A&FM5E QsTan(h SDHnIeUSET ApeLd @@ Crreul L
2 (HeneTentiLl GlLImeoTLD.
N | (B) Qsdicusip
(C) @oansyd . (D) smisgiyd

(E) e Gsfweldame

If the ratio of Volurﬁes of two cones is 2 : 3 and the ratio of the radii of their bases is
1: 2, then the ratio of their heights will be?

_(A) 2.8 8:3

© 9:2 . ' D) 8:1

(E) Answer not known

Q) smibLsaflen sear ojaTe a6 aﬁl&lgm 2 : 3 wHmib jeumdler @imruuaag < rhiGeter efldlsib
1:2 g 5ebd @@g)g,rrm Siaupler 2 wrhseaiien aldlsn? :

@A) 3:8, B) 8:3

i)  9:2 D) 8:1

(E) el Gasflwelidvena .

If the radius of the base of a cone is tripled and helght is doubled then the volume 1s
made

(A)g 6 times : | (B) 12 times
18 times S - (D) unchanged
(E) Answer not known
Q@ dalbiYlen %Ulb (PO BISTSE|D 2 WD @@mi_réia;nasmm LOMTHISTTE SET DETEY 6TEHSEN
OL_MBI&ITE LDTMILD?
(A) 6uwLmeg (B) 12 vLmiE
(C) 18vLm : (D) wmplevana |
(E) efevr Qzfluealeency. ;
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52.  In the nuclear reaction ,U**® — Th” + ,He*, the value of A and Z are
&) A=234Z=94  4-2317-9
C© A=238272=94 (D) A=238 7Z =90

(E) Answer not known

oignissd afielmenie o U — Tha + ,He' | A wpgiv Z Ger v
Q) A=2847-94 . : B) A=234,27Z=90

(C) A=2382=94 D) A =238 Z =90

E) e Osfucldma

53. .An AND gate caﬁ be obtained by repetitive use of
(A) NOT gate - (B) NOR gate
(C) NAND gate : d Both (B) and (C)
(E) Answer not known : '

Bam@n Ber@id srasumdeal uusBsgasdr e om AND aimdear: Quped
(&) NOT awmdé . (@ NoRarille =
© NiPente - D) ) wimo ©)

(E) &flen Qaflwelaeme

54. The velocity of sound in air at 30°C is 350 m/s. Keeping the temperature constant,
the pressure of air is doubled. The velocity of sound in air now will be

(A) 700 m/s (B) 175 m/s
350 m/s ' (D) 800 m/s

(E) Answer not known ; =

30°C — & amppled eeluder Cousd 35IO B/ef. smphlen QeutiuBlene Lﬁnmnmsb.a@gg,m @@
LDL1BI(& &ML 46T GeusLd eremmamaum@id?

(A) 700 5/ef B) 175 5/a9

(C) 350 5/e9 : : (D) 800 B/e9.

(E) &l GQsflweldvena
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55.

Match the following

()
- (b)

(©)
@

A)

Bacillary dysentery
Enteric fever
Wooping cough
Pharyngitis

@ ® ©

1 3 2 |

_..(B) oy
W&"l 3

D) 3 i

(B

Answer not known

ae;gpésaﬁml_su;bsmm Qu n@g@a;

(a)
(b)
(©)
(@)

@)
®)
©
)

(B

urste flw euuldpmy s@H Y
GLCHTL STFFD
&8 (86U M6l (@) (THLOGD

3l SEFTanran. 2ipHal

@ O ©

1 8 2

2 1 3

5 1

oL Asfueldme

i Salmonell_a typhii
2 Streptoco_ccus pyogenes
3.  Bordetella pertusis

4.  Shigella species

e

TGO Lo\l

2. G gliGLrsrésen enLCGuimsdeaen

2 (SLJrrerquh_ebsorr Quir®even

4. eflQgoer @emser

33 : ADGS/2021 ¢
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.56. A book three body problem written by
(A) ST JohnMendal (B) N.K.Jemisin-
: d Liu Cixin - (D) Cadwell Turnbull -

(E) Answer not known

epenm 2 L 1bL| {Gleersitluib Grsmg) mredlenas er(pdluieurr
(A) - S.T. geir Qe (B) N.K. QguilGlsgen
(C) oy SAsdan (D) sr(Qeue LiTarLd

(E) e&lenr Qsfleiicvensy

57. India-America — HIB-Visa-is made for -

(A) The employee moving from one country to another country within the same

organisation |
d Particular skilled employee
(C) English languagé known persons
(D)  Only for information technology

(E)  Answer not known

@nAwur —2QwfssT @ Guiwime HIB-Visa GTaTILIg)

A) @Gy Ppeasdpes o bpgdEEs WLHEDTE BLLHE Saflunariwer
' N MINEYS) ' o

@8 . @@QQLL, Smar 10 uamﬂ@wmfr&.érr

© syt Quoml Opfpsesd

D) sz Gsmfle gjl'_ugﬁ'rb.asrras oL (Hibd

(E) eflen GQsflwaliievensn
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58. The digital network for farmers is
& AGMAKNET i
(B) DOT NET
(C) AVS
(D) NVDA

(E) - Answer not known

2 LDQITEEHEE 2-S6 D Qe G eerTgaTiD — o GLD.
(A) AGMAKNET

(B) DOT NET

(C) AVS

(D) NVDA

(E) ollew G]g;lﬂu_ieﬁabé)su

59. What is /are the cause/causes for population growth in India?
1. Falling death rate '
II. Lack of education-
III. Late marriage

(A) 4 Ionly
. S I and IT only
'('C) I and III only
@) LIlandIll
(E) Ahswer not known '

- @ndwmrelle) wsseT (ETens éuérrr‘re_'r@é;a;rrem SMIERTLD/ STIEITRISET TGP WITEHE?
L @oouyeidsd Gopsd | ' | '
II. @enbhs sdeflwula;
III. srepsTphHs SlHoamTD
A IoplEbd
B Topmid Mol o
(©)  Twpgd IIT vl Gid
D) I, II wimb ITT
(E) e&fenr Qaflweierens
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60.

Match the following

(a)
(b)
(©)
(d)

A)
(B)

(Cy
V4

(B)

ﬂmm@mmmg’)mm Qun@ggjé

List I
Mountain Pass
Bumla
Khardung la
Nathu la

- Shipki la

(a) (©
2

2

4
4

(b)

4
=
3
1

G S

Answer not known

Ul iquievl

© - IDENESSHEITEL T

(a)
®)

- (©

A)

- (B)

(©
(D)

(B

Ly e
SAM(HMA QT

BISg! oI
i eor

@ O
2 1
e
4 52
4 2

=W W

eflaL QgMueidame

ADGS/2021

-

[ o

il

B - T

Ch

3

State
Sikkim

Jammu & Kashmir

Himachal Pradesh
Arunachal Pradesh

L i ued _II

omleotd
&Sl

o & sraglhir

- @ wrEse @j@g;&l_b

- Dipemrése WyGsew
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Match the following
Name of the Hydro | States

electric power plants

(a) Balimela = ‘Maharashtra

(b) Girna 2. Odisha

(¢) Akrimota 3. Assam

(d) Kopali - 4, Gujarat -
-

A 2 1 4 3

®) 1 : 2 4

C) 4 2= 0

D) 4 1 2 3

(E) Answer not known

Epsan_aupon QUTmEss

Brder Bleneowmsefiar mfleotd
- Quuwrser

@ ureiGierr =

(b) e 2. guer

(c) .éléSFﬂGLDfTI_TT 3.  Sevennbd
_.(d) Gamiumef) 4. GyIs

@ ®) (o (d)

@) 2 e

e

©) 4 .

D) 4 1 2 3

B e pfudions
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62, The priméry profession of the Indus valley Civilization was
(A) Domes’tication of animals (B) Internal trade

(C) - External trade . ' J Agriculture

(E) Answer not known

A1bg s0Qeuaf sasafen padwu Ggmlle
(A) smobaL GI;DU-_Fzé';‘é_F)éD_ : (B) eampm (k) euranflubd
(C) Geuveflsm G eurenflund (D) efeusmuid

(E) een @gMuwellcoene

= 63. Who was the auth.or.'of a book “TaBgat-i-Naisiri”?
. (A) Zia-ud-Din-Barani :
d Minhajus-Siraj
. (C) Ghulam Yahya bin Ahamad
(D) Hasan Nizami

(E) Answer not known

“Llisg-gg-peiif” erenp pedler <pAMwir wimi?
@A) @lur-op-Har uyeh
- Netaes et
(C) _ (@0 urr;ﬂturr ﬁ]shr-éiasmgj
D) @_f})mm Blavms)

(E) &l Gsflueiaeame
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64.

Which one is mis matching in the following in the Babar invasion

L.

2.

4.

@)

B)

(©)

: Conquest of Kabul | ' = 1504

Conquest of Kandhakar : o 150
Battle of Kanva : ' — 1528
~ Battle of Panipat : a0 1508

1, 2, 3 are correctly matching 4 only mis matching
1 3.4 are correctly matchi_'ng_ 2 only mis matching

1, 2 are correctly matching 3, 4 are mis matching

6' -1, 2, 4 are correctly matching 3 only mis mat_chin‘g

(E)

Answer not known

urui uenL QuGlyseflé seuprer @eament erg)?

=

(A)
(B)
(©)

D)

(E®)

&L Ll QUi _ | - = dold
.asrr‘r_bg,e;:srrlfr uenlGlw@iiiy | o= 1622
srereur Gumt . s 1528
R Gei - 1526

1,2, 3 &rﬂujnem'@smmﬁl L (HLb Seumme &) eneuT
1, 3, 4 sflwrer @enent 2 WL (HLb Geummer ) anemT

1, 2 vl G sfwurer Gt 3, 4 seuprer Geent

1, 2, 4 sflwne Genewt 3 WL (LD Heummer &) et

cllenL GgMweiidene

39
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65.  Which anthropologist comparatlvely studied Kannaki of Cllappadlkaram Wlth

Pa?um cult of Srilanka? :
Gananath Obeyasekara (B) Levis Strauss

(C)  Nicholas B. Dirks ; - (D) Thomas R. Trautmann.

(E) - Answer not known

e -wreflellwemt Holiuderysser sanardlow Ufonstelar usdall eudur GLr®

UIALD pUbsmi? ;
(A) sewpns @UUGEE) = | (B) Qeedl eoilgmey

©) Heod 9. Lidd D) smoad 4t g 7 Croar
E) elenr Qafuefdame ; ' '

66. Which.commit_tee recommended the establishment of Central Vigilance Commission?
(A)  Sri Krishna Committee (B) Swaran Singh Committee
(C)  Kelkar Committee : Santhanam Committee

(E) = Answer not known
55w 2arpdd HHILIL seTaTentiL y@anub gHLGSS LABEI®TSES @7
@A) B HmegenT G . - (B) seuranfn g

(0 Caasigly D) epgrand Gp -
E) oo Qzfwueideme : .

67. According to Right to Education Act, children of which age group will be provided

free and compulsory education? . ' _
(A) S years - \d ; - 6— 14 years
(C) upto 14 years . - (D) upto 10 years

(E) Answer not known

sdell 2 Manw &L sdHlemiig @nggamﬂw TS UUISISEL UL L 6U(HEE SL_L Tl HMID @susue;
g6l auprislILHLD

(A) T upse 14 auwig) cuenty ' (B) 6 @pgeﬁ 14 cuwig) aieny
(C) ldeuwg Gucén_l;r ' D) 10 euwg eueny
E)  efaL Gsfweldma

ADGS/2021 ' _ 40 o8



68. The President administers the Union Territories and he / she exercises their powers -
through which of the following Ministry?

d The Hoxﬁe Ministry
(B) - The Ministry and External Affairs

(C)  The Defence Ministry
(D) The Finance Ministry

(E) Answer not known

weflwer 9rGsahismen Glqre: SameeuT SLDaU(HLD 6ThHS émmé&é;ggeh gD ﬂr’reué]és@wfr‘r?
@)  odEep SionEEED .' '

(B) Qeuaflaleusmy é{mmé&;ib

(C) UIMgIamLL gemLﬁéF&asLb

(D) . B8 siewéssid

(E) efen Gg;rﬂ@aﬁ@mw

69. Which Article of Indian Constitution, speaks about ‘Abolition of Titles'?

VA Aris

(B) Art.19
(C) Art.20
D)  Art.21

(E) Answer not known

@S Srfuemnlnder ahs asrss ‘Ul L kismear @uissd’ Lpl sndns?

A) 9818
®B) @519
(C) &9 20

D) @f21

(E) eﬁ]a)l_- Qzflwelldena
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70. Natjonal Emergency is declared under Article

Art. 352
(B) Art. 356
(C) Art. 360

(D)  None of the above
(E) Answer not known

Caélu Qpmésig. ‘ﬂ@nsﬁmu.l ArsLeiu@SEID a37ssI
&) osrig 352 = |

(B)  oqrg 356

©) . a355 360 *

D)  Cuopsaflu agieyfidenw

(B) oo Osflucioame

71. Mixed Economy implies
| (A) Co-eXis_tenée of _Small and Large industries
M - Co-existence of Public and Private sectors
| © -'Co-exiétenqe of Labour intensive. and Capital '_intensive technology
(D)  Co-existence of N'ational and Foreign companies

(E) Answer not. known_

ey QL rr@aﬁrg,frq:.b' : @@éﬁﬁ)@.
A)  fywomd GI_I-I}GTTG)_[‘&:—', Qgmiflevaer @)enemhg) @&ueﬁu@gsb-
- (B)  GQung wHmib g,saﬂLurrrr g;]a‘mg)assrr @GB')GMT‘IBQJ G&msuu@g,so _

©€C) oy G]gsrr%@a)@l_u& Qedlay LD[_I)Q}LD PGS T @g,rr@‘lsogy;u& G&gﬂs}.; @6@6&0@5@
Q&u_la)u@gm :

D) Csflw womid SweapT H Hneambser Qe bs) Qamebu@\ggeb

(B) oo Qsfucioeme
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72,

Match the List I 'with List II and select the correct answer ué.ing.the codes given

‘below : _
List] '-  lisn
(a) Second Finance Commission 1. C. Ra_ngarajah
(b) Seventh F iﬁance Cdmmission | 2 K Santhanam
| ~ (¢) Twelfth Finance Commission 3. J.M. Shelat

@ ® ©

'Jz e

®)
©)
D)
(E)

1 3 2
3 i 2

Answer not known

- utigwe I opmyo IT g @urr@,ésﬁ EC& Qarpsstiul_Herer sfwrer edeLew Caira) Asiis :

&

(b)
(c)

@A)
B)
©
)
(E)

uliqwen I 'ug@a'u I1
Gl Y Yo 1. &. prasyrsgen
gpreugl HF&EE@ 2. Gs E;_%J,é,rrsmb
'umﬂ@gm_ne{;gj BHEE W 3 Geg.arib. GsQavl’
@ W ®

2 g

1 32

$owg o 9

e Sk 8

cllenL Qg Mwellevenew

43 - ADGS/2021

[Turn over



73.. The aim of “Make in India” scheme is to
(A) - Develop agriculture '
M Invite both domestic and foreign investors to invest in India
(C) Promote culture
(D) Promote religion

(E) Answer not known

“Cuo& Glen @pglwn” S b (@ﬁ@u_lmsmu g@@né;@g,@b) Crrésreng
@A) asmugms sz (CobLESSSD)
- (B)  odmriG wHmd au..lco‘r_r;m_(ﬁ sl Lerigamer @bHureder psd® Qi -
ADPGHE
(C) sorsEsmsms cueTTESM
D) wssHwen auarissd
(B)  eflon Osfueiioama

74, Which of the followmg statements about Gokhale is / are not true?
L He was a moderate in Politics but radical in 1ntroducmg socml reforms
1 He wanted political progress and social reforms snnultaneously ;
III. He was opposed to passive resistance in India and is South Afri(;ai

IV. He was opposed to Western civilisation
A, Ionly ' .. (B) IandIIonly

M III and IV only . ' (D) II and IV only
(E) = Answer not known :

Qemeu(md sapmiseier CaraCaemwts LpHw seupTer gapm/ 6T erg!/eTeneu?

I ‘rHwedled @eur @@5 Oigeundl e Fepssid §n§;]@g;g,m1&mm g{@@a;uu(bﬁggjsuﬁsu
: Seflomeraur

II. Qe gCrCrysda smlue @@Geﬂ@ﬂ)gsﬁ)@um FOP& §|‘r§ﬁ@§,g’;§m§um &Sl (mLbLjLIGuIT
I et @Hur wpmib Ogper eliflsstele Qauonn editieou adisseair
IV, Qe CuopssdHw prafssSns erdymerau

@A) Iw o | (B) I wpmyid IT ol G

(© Tishme IV oG ®) II wpgid IV v Gid

(E) e Qsfuaiama | -
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75

Which of the following statement/s is/are true?

_ Assert_idn (A) : A Tamil weekly called “Dravida Nadu” was started by Periyar to

~ propagate the idea of a separate state “Dravida Nadu”

Reason (R) : ‘This espousal of the cause of a Dravida state led to the

A

®
©
®)
®)

identification of Non-Brahmins of South as ‘Dravidians’.

(A) 'andl (R) are true and (R) is the correct explanation of (A)

(A) 1s {:rue, (R) is false

(A) is false, (R) is true
(A) and (R) are true but (R) is not the correct explanation of (A)

Answer not known

Slemreu(pid snhm/ s erg)/ eTeney &ﬁlurrar@?

sapm (A) : o “Aymefl wr@” eraild Sl eumy @g@_@uﬂu_r_h;rrrab SymellL B eremy

safl orhlad smSsl LTULISDHETES pTbI9GEsILL L g)

ESITIJ'@'GTLb-(R)': - Sgreil BT GT@JLD smesms  Hwelugred CzsnCs amm

A
B)
(©)
(D)

®

ﬁ]unmmgsbmrr@g;nm;r SrmelL e ereny D@L wmemd STl el
. _@@5@- .
A) 'LD@Q_JL'D”-(R) sl wppid (R) (A) ésran sflunen efanésid
(A) &, (R) seum |
@) saup, ®) o

@) wppib ®) sfl e (R) (A) ssrar sflunen cflorssinde

efflent G]g,rﬂu.uaﬁ!sbmgu 2
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76. Who said the _following Wor_ds_?

“The scheme of Pakistan is harmful not only for India as a whole but aiso for the

: Musl_ims in .particular .and -i_n fact, it creates_ more problems than it solvles”;
(A) Nawab Mushtaq _H_ussaih
. (B) Mohammed Igbal -
./)_ - Mnlese Ml Kl Azad
@) - Maulana Mﬁhammad .Ali

(E) = Answer not known

Iﬁ]éﬂﬁu@tﬁ UMTS S EHEDETE gaPlieui wmir?
.“‘ur'réldvg,rrehr @LL&) @gﬁgﬂun PP@WLEGD ShiG éﬁim%ﬂaﬂmgg Lél;@mebeurrmc;ia _@_@uurras
e@dueurn.ﬂu_l.r.'res@é;@l.b 25 '.LDI'_C}J.\LDGbGDFFSJ.@QJ Blenmus Qgéasmeﬁrasemm Q;@G)Jﬂéi@lfb ,;%rruu@o‘)g;
. (A). .‘I'_I')Q_II'I'.I;i (g)dpg,és @ﬁm&éﬂ :
B) oy Qe
. (C) GQuweremasm c«a{uéoa;eu‘r-nb SIFTS
(D) @LDGTFGD[T@T& V&g 16

E) oL Agfusidms
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7.

Assertion (A): - The _pefiod_from 1937 to 19_4‘7' Pakistan movement gathered

' : momentum. The Muslim league began to command a Mass
following. .

Reason (R) : The political and religious themes of Modern Pakistan fused

together

- Which of the above statemént/s_is/_are true?

(A) (A) 1s false, (R) 18 tfue

: J : Both (A) and '(R) are'true, (R) is the correct explanation of (A)

(C) (A) 1s true, (R) 1s false
(D)' (A) -an'd (R) are true, (R) is not the correct eXpIanatibn Qf (A)

(E) Anéwer n_of, 'known

apm (A): 1‘93..7. & Amis) 1947 @@_qu.‘ﬂeorrm STELD urraﬁ]abg;frs&r_@l.uésa;m_ eI
i | oty s . Smand egg@ﬁ). ApaveSid * eSé-@L .mé;ass'rr S FTEeuLl
QupPopss -
.EHFIGECIDTL'D R) : Beder urra?i@ug;rreoﬂso ém:ﬁu_lsu wHmId LDé’;&S 5@@@5&5@1 @mﬁldmsmg;g
@opse
Cupampliul L smpmsaia erg)/ creney Filwreng? -

@ @ pap, ® of

- B (A) LMD (R) a:rﬂ (R) (A) & sflwimen Gﬁ]masa;m =

©® &fl, (R) saugy
D) ITDﬂJQJLb (R) &M, (R) (A) &asne;rr aflwmer aﬂmésa;mebm.

(B e Ogfucdadns

e ~ ADGS/2021
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78.

79.

The discovery of Augustino coins help to confirm further the trade contacts with
Rome at :

Arikkamedu (B) Coimbatore
(C) Karur i (D) Adichitanallur
(E) Answer not known ;

SNGeVIg 6T &TVSG Brewrwmser Crmomefl @WL@L@W cumeuflLl &.[DGS.{ Ge;;rram@ @@ggmg '

seTL_Hlwii L @ 1b

(A)  ofésr Cu® (B) Cemuapsgnit
C) asemi - (D) < fsepegni
(E) e Gsflweidame

Match the following and select the best option :
Poets Reversed persons
1. Kuttuvan
(b) Avvaiyar 2. . Nalli
(c) Kakkai Padiniyar 3. Azhisi
4. Ezhini

(a) Paranar

(d) Kollimalai Kannanar

(a) (b) (c) (d)
(A) 3' 4 1 2
(B) g.r12n 4
d 3 4 - T
D) 4 B vy 1
(E) Answer not known

Epsar_eupeann QurmrsH Qurmssworear el mwus Csis

L|60GU TG : urLUGuphmeurser
(a) ugewrt 1. @l@euer
(b) eereeuwint 2.  meell
() smssumgaiwmT 3. P8
(d) Qasméelwene seaTeRTETTT 4. erflaf

Gk B

A 3 4 1 2
B) 1 2 3 4
€y -3 4 12 1
D) 4 ¢ -3 9

(E) &ler Qsfweldena

ADGS/2021 a8~ : e
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Analyse the following statements

A
@

®

o

This conference is specially known as Tamil classical conference.
A and B correct
A and B wrong

A correct and B wrong

‘Eighth world Tamil Conference was held in 1995 at Tanjore in Tamil Nadu.

(D) A wrong and B correct

(E) Answer not known

S paeir_ alﬁ)smm 25

A: alirtag cess sOPETH wIETH SOPET KD oder sepsrapfeo 1995 @
ﬁnmu@ﬁmm@

B: - @ wTETH Smliy @u;j}g} g@@ QewQumf wrET® eremm SMuLILHS DS

(A) Awpyd Bef

B) AwvpydBsapy

(C) AsfwpydBsaum

D) Aszeup wpmid B &

(E) G&IGU)I_ Qg maﬁ]sbsmm.

49
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81. “Touse.....is to
make choice of unripe fruits to ripe fruits”.

In the above Thirukkural, according to Thiruvalluvar which one, when spoken is

equivale.nt to choosing unripe to ripe fruits?
(A)  Truth instead of falsity
(B Rebifth in.stead of the current birth
: (M Bittef words instead of sweet words
(D) Ta_Iking about arrogance instead of humanity

(E)  Answer not known

sefllpLILE ST SeubsHn”
@é;@mmﬂeb Sl(meueT@paur, “cTensd samieug Ias@ﬂufﬂ@&@m Cung srevws assur'rsﬁg,g')@ QUUITGL
eredlmmm?

(A) 2amewulmss' QuTiemn amnea

B Goww Goss npeis L mps

©) - @aflwewas @més @aramsg) D)

D)  esspomwviel uHars SiLssbemamio Ul Cuseug

(E) der Gsfluelédeme

ADGS/2021 50 s o8



'82.  On 2nd November 1927, the Manimegalal Sangam, the Devadasi Women’s association

organised a meeting at Coimbatore under whose presidentship of
.(A) Cho_ildri V. Kona.mbal | d Dr. Mutﬁulakshmi'reddy
(C) Mrs. Annanima raja S ; ~ (D) Mrs. Annie Besant
' (E) . Answer not known
1927-1b & peubui 2 b o) LL.IFF(.[IjGD'L_LLI ool £ wefl Gm&ssm.eu #husb Coaugnsl
QuenTseflar #miss 8%).1-_1_‘@3.66)§ Ga;nm@ggmﬂeh gour® Qeiss? : .
W GeriiR s Garens o) LsL it @pgg0e s Qg
(O  SHmwd. égehem@mn gregm _ | D) S(mod). <sievmentl GlLFe

(E) oL Qsflueddeame

- 83.  dJustice party Oi:)pOSéd the Home Rule movement because
: M It was a movement of Bhramins

(B) It was a prd-Britain movement = -

(C) It supported communal res.ervatio.n'

'(D.) ~ It basically was quth Indian m-ovlement

(E) Ansx.ver. not known

- g;sarm&gé AusssDns ﬁ@mg S GQanafiéy
@B iz 9@ Grmoent Quisors Qopss
B) =5 oo hde 9T Guis
€ =890 &f@mﬂ B 98550 2sr0) Guissid
D) =g sgouoLdd é@ oL @pdu Glihmd '

(E) oo Qsfucioeme
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84. C.N. Annadurai z'issumed_the'po'wer as Chief Minister in the year
.A( 1967 = B) 1969
(C) 1968 | (D) 1966

(E)  Answer not known

&\. erein. eTemTTEIENT (PSer b Mwins aﬁgnggﬁe‘b QurmuCuhp SaT[H
(A) 1967 - (B) 1969
(C) 1968 | | - (D) 1966

(E) ofen Qg,ﬂuaﬂebsmm

85. The Bes.t. indicator of eéohomic Idevelopr'nent is
(A Rising fsév.ings
(B)  Rising investment
(C)  Rising capital-output ratiﬁ ;
= J Rising the sta.nd.ard o’f livings

(E) -~ Answer not known |
GurmermS Ty @Gh@mﬁ)m.g.mg, sonllés Siphs srrafluns Slepeig

@) Gl s uEse |
®  ss6 &u(_rvﬁé
-(C).' QPESLB-2-Dussl s56is0 o WHHD

=1y sur@éamasgg;l;rm.a_u_l@g,;b . |

(E) e Qsfeferane
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86.

87.

India’s first organised Trade union was
(A) All India Trade union congress

(B) Madras Mahajana Sabha

\M Madras Labour Union

(D) South Indian Liberal Federation

(E) Answer not known

@,r_'r;ﬁu.lrr—aﬁ]sh PE @ESMLESILL L Agmilhemsd .
A)  =feo @pdwu Asmerent siGwered

(B). DTG LOSTERE FemL |

(©)  wsrmev Agmerart Fhisd

(D) AseamaflbHw pev 2 Menwos &I‘E.IE-BL-B

(E) e&flenr Gsflwelldvena

The state nodal agency to initiate e-services in Tamil Nadu is
() ELCOT (B) TACTU

M TNeGA | - () NIC

(E) Answer not known

sOPBT 146 B)-Come HHUSD LPSTEDLOWITRT WPSELD 6T5)?
(A) ELCOT ' : '(B) TACTU
(©) TNeGA - (D) NIC

() e&len Gsflweildens
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88. Match the List I with List II and select the correct answer using the codes given

below

 ListI ' = ' List I

(a) Kaﬁjamalai Iron deposits - . 1. Vellore

(b) Textile capital.of TN | 2. Dharmapux_;i
(¢) Lowest sex ratio 3. Salem

(d) Top export of leather goods 4. Karur

@ ® © @

& 2 1 4
s = 4 2
s o 1
e e

(E) Aﬁswer not known

ulguwe I wHmd II o Curmsd &Cp Qsrhssiul (Herar  sflwrer eflan._eous

Caitey Q&lis
. utigwe I _ IJI_'_Iq.l:lJGD B
(@) sEpsLM QHLLSHTS Liig e ser 1.  Geugn
(b) '&;L&IE;)-‘II;I'I'E'_LOFGET QABsa|s S BHETLD 2.  gmoyf
(©) @®paurer urdler e98gLd 3. Gsew
(d)  Gsréd Qunmer gpHLSGE (pseTaD 4 sei

@ ) @

A 3 2 1 4
{B) -3 1 4 2
Cr 8- 4 -2 1
®) 3 ! 2 4

(E) eflenL Qgflwelieveneo

ADGS/2021 | 5 o8



89.

90.

There are 560 students in a school. Out of 560 students, 320 are boys. Find the

percentage of girls in that schooi. '
(A) 42.56% (B) 42.66%

(C) 42.76% ' M 42.86%

(E) Answer not known

@ udraflda 560 wremeuiser o erarart v 320 Guir Ayeuisdr erafle @g@gu uerafludiey
2 aer fmflsafien sseissams srews. . .

(A)  42.56% (B) 42.66%

(C) 42.76% s D) 42.86%

(E) - el Qzfluefene

If the Highest common factor of 210 and 55 is expressible in the form 55x—325,

then x = : _
M 6 ' ®) 5
© 4 S D) 3

(E) Ansﬁrer not known

210 wppyid 55 fweuphler BLGALm® Quig eugsdlerw 55x — 325 erar @GO Lmeéd x -ulen

gl
@) 6 . - 5

© 4 : : e Al 3

(E) oo QsAwicddaa

55 | - ADGS/2021
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91. Sathish Kumar bought a amount of Rs. 52,000 from a person on simple interest. .
After 4 years he paid the total amount Rs. 79,040 to the person then calculate the

rate of simple interest

A 11% : ' B) 12%
o = D) 4%

(E)  Answer not known

Fdleiy @mrrr'f @'rsinu;sur'r (M asl_ﬁ ULPMBIGLD _;r)uhrﬂ:'_Lb Qmpgl. . 52,000/ ¢m @Al
saflau’iy eissHd sLamsl @up’jg)rrr'r.. 4 syamhser 558 é{eur'r- eh. 79,0406l errgg;‘e_'r,
Qgrenswing Qgggden erafled cul_iq-6IHLD STeRTS. | =
A 11% : B) 12%

©) 13% ; ' : D) 14%

(E) e&fen Qsflweidvena

92. Find the compound interest on Rs. 9,600 at 12% per annum for 2 years 4 months.

Compound annually. |
(4) Rs.12,253 J Rs. 12,524 = =
(C) Rs. 12,-853 _ (D) Rs. 12,653 -
(E) Answer not khown
<@ (H aully sarsSH@L apepuied mumis 9,600 sasE 12% el Sesde 2 .z%,atrr@
4 LrsSH NG aﬁ]m:_a;@m sal_(heul g wimg?
A) e 12,253 B) . 12,524
(O @.12,853 D) . 12,653

(E) e&enr Qsflwelawene

ADGS/2021 _ 56 £ g 8



93.

94.

Simplify :

(4356 x 4356) - (2171x 2171) 1
' 2185 4356 +2171

@ 0 o
(C) 4356 | = (D) 2171

(E) - Ahswer not known

FMHSGS :
(4356 x 4356) — (2171x 2171) =

2185 4356 + 2171
o ® 1
C) 4356 | D) 2171

(E) ofen QsMwelerena

The value of the motor cycle 2 years ago was Rs. 70,000. It depreciates at the rate of

4%. Find the present value?
(A) Rs. 67,000 (B) Rs. 50,000

(/ Rs. 64,512 (D) Rs. 66,000

(E) “Answer not known

 Qran® %@ OsEHEE wer @ G Lt evssdafllan eflea 5. 70,000. geuQeun(m <@L

4% -GI'G%T[D aul g 658558 GamHsTe emeddlaflan g,ﬁ)@urrmgu_i efleney ereucueTeay?
A) . 67,000 | B) . 50,000
(C) em. 64,512 (D) . 66,000

(E) oL Osfludoms

57 ADGS/2021
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95. Solve: 4—y—‘y=zxg' |
3 5.y

") +2 B) 2
: 4
). 2 - Q=
3

(E) Answer not known

Eés : 4—;—3* :—g-x-i—'

A 2 - B) 2
4
c -2 D) —
© e

E) oo Osfueddome

96. The greatest four digit number which is exabtly divisible by 8, 12, 15
(A) 9930 a( 9960
(C) 9920 = (D) 9980

(E)  Answer not known

8,12, 15 oy BHulanl cuguBd Wasl@Quilu prens @ess eramr
(A) 9930 ' (B) 9960
(C) 9920 = (D) 9980

(E) e&lenL Qsflwellcvene
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97. LCM of two consecutive prime numbers is equal to their
A) _ Sum of the two numbers
| {) Product of.the two numbers
(C)  Difference of the twﬁ numbers
(D) HCF of the two numbers

- (E) Answer not known

B® 2G50 LsT aansatier 15.£.10 Slapfen TN FLOD?
| A @ aarsailer gm{Hso

B) Qm cansaflar QuEmSSDH LieveT

© @ aansesssnan aﬁlggm}r&m

& fo-medudon

(E) &len Gsflueidweana

98.  Find the LCM of (23 x3x5%x7), (2! x3%2x5x7?x11) and (2x 3% x5%)
(&) = otxatxst . ' B) 2x3xTx5x1l
g(f) 24 % 33 x 5% x 72 x11 @) 2 =3 x5t %7
(E) Answer not known |
(22 x8x5% x7), (2* x3% x5x 7% x11) wpmid (2x 3% x5*) Qauplen 8.Qum.o srars.
A) 2'x3 x5! @) pesinean
®) 24x33x54xf2x11 (D) 94 x 3% x 5% x7

(E) oo Gsflweildvenay

o 59 ADGS/2021
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99. The ratio of the area of a circle to the area of its sem_icircle s

(A
)
(©)
D)
E)

A)
(B)
©)
(D)
(B)

1:2
Dzl
4:1
1:4

Answer not known

@ UL SSler uuﬁum@&]ﬁj@m SIF6 Semreul_L sdlem urliueatelln@d @ent Guiwyerer elldlsid

18
2:1
4:1
1:4
eflenL Gsfweldvene

100. Senthil bought a car for Rs. 4,26,000. He paid Rs. 9,000 for transportation, and
Rs. 15,000 was paid for its insurance, then, it was sold for Rs. 4,41,000 what is the
gain or loss precentage?

A)
B)
©

>4

(E)

Gain 5%
Lloss 5%
Gain 2%
Loss 2%

Answer not known

Qepder eramueuii @m wHuH®s M. 4,26,0005s Ui, Cugib Curs@elrdsg LOHDHID
sl H Osrewsssts wapGu . 9,000 whmbd ep. 15000 Qogsd, s GQen
<bwdnas @m. 4,41,0006@ pumar Qsiidpri aafld <euT <imLbss GoTuoT?
BLL_LDMT? TESMET 8565507

A)
B)
(©)
D)
(E)

ADGS/2021

@emu 5%
BLLID 5%
@emub 2%

- BLLID 2%

edlenL @gﬂuaﬁ}_ﬁbmm
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Register
Number

2021
GENERAL STUDIES
(Degree Standard)

A

Duration : Two Hours] [Total Marks : 200

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

2. This question booklet contains 100 questions. Before answering the questions, you are requested to check
whether all the questions are printed serially and ensure that there are no blank pages in the question
booklet. If any defect is noticed in the question booklet, it shall be reported to the invigilator
within the first 10 minutes and get it replaced with a complete question booklet.
If the defect is reported after the commencement of the examination, it will not be replaced.

3. Answer all the questions. All the questions carry equal marks.

4. You must write your register number in the space provided on the top right side of this page. Do not

write anything else on the question booklet.

An answer sheet will be supplied to you separately by the room'invigilator to shade the answers.

Instructions regarding filling of answers etc., which are to be followed mandatorily, are provided in the

answer sheet and in the memorandum of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the

answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the

question booklet number, your answer sheet will be invalidated. :

s Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct. :

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination. vou must hand over vour answer sheet to the invigilator. You are allowed to
take the question booklet with vou only after the examination is over. :

9. You should not make any marking in the question booklet except in the sheets before the
last page of the question booklet, which can be used for rough work. This should be strictly
adhered to. : '

10. In all matters, the English version is final.

11. Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.
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